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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

10.

11

12.

14.

15.

19.

20.

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

Choose the right choice of the underlined words from Book-II (Part-I, Modern Prose and Heroes): 3
I could hardly believe that three strenuous school terms had indeed rolled away.
(A) ardugus (B) lengthy (C) short (D) happy

So I shambled in and looked timidly at the clerks.

(A) looked (B) staggered (C) ran (I)) entered

This second star must have raised tides on the surface of the sun.

(A) created (B) thrown (C) grown D) helped

Choose the right choice of the underlined words from Book-IT (Part-II, Moderny/Prose and Heroes): 3
Pasteur was filled with loathing of Germany.

(A) disgust (B) love (C) patriotism (D) fear
The authorities of Istanbul issued orders for the ship to be intercepted.
(A) broken (B) sailed (C) attacked (D) obstructed
Christopher was firmly gripped by the wanderlust.
(A) eagerness (B) desire (C) lust for money (D) /great fondness for travelling
Choose the right choice of the underlined words from the Novel “Go -Bye, Mr. Chips”: 4
Chips had cooped up hundreds of boys in the school.
(A) confirmed (B) punished (C) taught (D) invited
Mr. Chips once thrashed Collingwood.
(A) praised (B)/ admired (C) beat (D) invited
Chips fancied he might have caught a slight chill during the chapel segvice.
(A) told (B) wrote (C) imagine (D) feared
The laughter impeded the progress of Chips’ speech.
(A) stopped (B) caused (C) advancéd (D) controlled
Fill in the blanks with appropriate prepositions: 5
He is not conscious his weaknesses:
(A) from (B) off (C) of (D) with
He was sentenced death.
(A) with (B) of (€) to (D) at
. He was annoyed my performance.
(A) at (B) with (©) “of (D) for
Fate smiles him in all his ventures.
(A) upon (B) at © D) for
Everyone is eager fame.
(A) to (B) in ©) (D) of
Choose the correct answer: 5
He has been successfully operated.
(A) He has been successfully operated with. (B) [He has been successfully operated upon.
(C) He have been successfully operated for. (D) [He had been successfully operated for.
He dares not to speak against me.
(A) He dare not speak against me. (B) He dare not to speak against me.
(C) He dares not to speak against I. (D) He does not dares to speak against me.
You were wrong.
(A) You were the wrong. (B) You were on the wrong.
(C) You were in the wrong. (D) You were at the wrong.
Either Ajmal or his brother have done it.
(A) Either Ajmal or his brother has done it. (B) Either Ajmal nor his brother have done it.

(C) Either Ajmal or his brother have been done it. (D) Neither Ajmal or his brother have done it.
Can you open this knot?

(A) Can you opened this knot? (B) Can you untie this knot?

(C) Can you untied this knot? (D) Can you opening this knot?
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English (Compulsory) Intermediate Part-II, Class 12" (15t A 423) Paper:II  Group-I

e: 2:30 HOurs\G ‘yv;/)/(/ =59 SUBJECTIVE . Marks:80
SECTION -1
. 'Write short answers (in 3 — 5 lines) to any SIX questions from Book — IT ' 12

(Part — I, Modern Prose and Heroes):
i.  How has the scientific method enabled us to get over the old fears?
ii. How does financial pressure lead to the failure of students?
ili. What were the writer’s unfulfilled childhood wishes?
iv.  “Itis positively-a public duty to destroy useless books.” Why?
v.  Why should the writer be an acquisition to the medical class?
vi.  Why did the writer add the word “alone”?

vii. What are the social security benefits provided to the Chinese workers? )

viii. What does hunger mean on a.large scale as viewed by the author? 7

ix. What did Al-Hakam do to promote learning and scholarship in his kingdom?

3. Write short answers (in 3 — 5 lines) to any SIX questions from Book —IT ) 12

(Part - II, Modern Prose and Heroes):

i.  Why did Churchill have the greatest regard for Mr. Welldon?

ii. How would you interpret the term “Hitch-Hiking”?

iii. 'What was Christopher’s first adventure?

iv.  What was Lister’s method of sterilization?

v.  Why was Fleming’s family called doctor family?

vi.  Why did Pasteur’s professor of chemistry at Besancon keep Pasteur “in his place”?
vii. How did Pasteur bring relief to the silkworm industry in France? :
viii. How did Mehmet try to regain Anatolia for himself?

i =

4. Write short answers (in 3-5 lines) to any EIGHT questions from th
1 What was the problem with Chips at Melbury?

ii. What was Katherine’s politis:al ‘ide.ology? )
iii. Why did Chips visit Lake District in 18967
iv. Who was Collingwood?

v. Who was Meldrum? .

vi. When did Chips becon;(e t:: Accgni ;—Iead of
ii id Ralston not like Mr. Chips?

\‘1,11111 v\]\\?}gﬁ(ind of men were pr(‘)ducedklj)){xzt;oi)‘)kﬁeld?

i did Brookfield serve in wor -17 .
l)):.. I—V{VOk::t is the significance of phrase “Good-Bye, Mr. Chips”?
xi. Who was Linford?

ii d on Mr. Chips when he died?
xii. Who attended o p NP

e Novel “Good-Bye, Mr. Chips”. 16

Brookfield?

; o 15
5.  Write an essay (300 — 400 words) on any ONE of the iz!lowxen-% ;1(:2];:1
. (i) Pleasures of Village Life (.11) A Visit ’:joAbmarS- S
(iii) Science asa Friend of Man (iv) Usesan : use e N
6. Useany FIVE of the following idioms/phrasal verbs in sentenctzs uty 5
- (i) by hook or by crook (ii) hit below the belt (11}.) o;;la:mo e
(v) safeand sound (vi) undera cloud (vii) fa ) s

i into English:
7. Translate the following passage into ; &
e B refty W v"’t,» dﬂrla - d/d_./'/{:(unf/ﬂ oz Ml . d ’JJ
. i ) f v i B L GuT AN 0 i T4 f
4../"'/: Jb 7« Li‘.g‘ ¢TI U 2 JJW’ o//u}”u,’ﬁ'ﬁ JaT [-c‘_. [&—v. a /' ' [J‘:}‘J o
ot PG fr - L)
u/;zfauu:ﬂﬂmﬁmy;/.;w/t,ug,u”),fa'wfc‘-ua'uﬁ wf&l,-u“’gdn Loy
AiTERNATE QUESTION FOR FOREIGN/ENGLISH MEDIUM CANDID%’I(‘E? Jrp——
Write a paragraph (1 50-200 words) on “ Laziness ",
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

10.

11.

12.

13.

14.

16.

17.

18.

19.

20.

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

Choose the right choice of the underlined words from Book-II (Part-I, Modern Prose and Heroes): 3
Such nervoys habits are not easy to uproot.

(A) catch (B) find (C) keep (D) eradicate
I came from a rival agency.

(A) detective (B) secret (C) opponent (D) state
Friday morning was positively rose-coloured.

(A) uncertainly (B) doubtfully (C) definitely (D) dearly

Choose the right choice of the underlined words from Book-II (Part-Il, Modern Prose and Heroes): 3
These examinations were a trial to me.

(A) history (B) challenge (C) blessing (D) friendly
The last of the Sultans was on his way to exile.
(A) foreign (B) mixing (C) banishment (D) excellent
Lysozyme was the forerunner of penicillin.
(A) forefather (B) worker (C) harbinger (D) plunder
Choose the right choice of the underlined words from the Novel “Good-Bye, Mr. Chips”: 4
Chatteris asked Chips not to take anything strenuously.
(A) laboriously (B) happily (C) -easily (D) effortlessly
Linford said that he had just cotne from sanatorium.
(A) fields (B) hospital (C) city (D) market
He had been there more than a decade.
(A) twenty years (B) century (C) month (D) tenyears
Actually Chips nodded and stumbled on.
(A) raced (B) ran (C) staggered (D) sat
Fill in the blanks with appropriate prepositions: 5
We must adhere our principles.
(A) to (B) from (G).in (D) on
He could not get rid his problems.
(A) of (B) from (C) "at (D) with
Prevent your brother bad company.
(A) from B) to (C) by (D) in
He deals clothes.
(A) on (B) in (C) with (D) at
1 cannot make this loss.
(A) over (B) up (C) in (D) to
Choose the correct answer: 5
She is very weak to walk. ’
(A) She is very much weak to walk. (B) She is too weak to walk.
(C) She is weak to walk. (D) She is weak for walk.
I bought a pen who is pretty.
(A) Ibought a pen which is pretty. (B) Ibought a pen who is prettier.
(C) 1bought the pen which is pretty. (D) 1bought a pen which is a pretty.
He ran as if he was mad.
(A) He ran as if he were made. (B) He ran as if he were mad.
(C) He runs as if he was mad. (D) He runs as if he was crazy.
Neither he nor [ is angry.
(A) Neither he nor I are angry. (B) Neither he nor L is angry.
(C) Neither he nor.I am angry. (D) He nor I are angry.
Blinds deserve our help.
(A) Blinds deserves our help. : (B) The blinds deserve our help.
(C) The blind deserve our help. (D) The blinds has deserve our help.
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SECTION -1
4. Write short answers (in 3 — 5 lines) to any SIX questions from Book — II 12

(Part — 1, Modern Prose and Heroes):
1. Write down a note on the beginning of life on the earth.
ii.  Discuss the significance of astrology in the past human life along with examples.
iii.  What is the role of college doctor in the academic well-being of students?
iv.  What was Daiches attitude towards weekend as a school boy?
v.  Why should bad books be destroyed?
vi.  Describe Jerome K Jerome’s visit to the medical man.
vii. What was the cause of Leacock’s nervousness in the bank?
viii. What was the theme of Mao’s famous maxim?
ix.  What did Al-Hakam do to promote learning and scholarship in his kingdom?
3. Write short answers (in 3 — 5 lines) to any SIX questions from Book — IT 12
(Part —1II, Modern Prose and Heroes):
I.  What were the favourite subjects for Churchill?
ii.  How did Christopher’s foster mother threaten him in his childhood?
iii.  Why did travellers kill the camel in Sahara?
iv.  Why are the antiseptics not usedto kill germs inside the body?
v.  How did Fleming discover Lysozyme? B
vi.  What is vaccine?
vii. What is spontaneous generation?
viil.  What were the terms offered to Turkey by the-Allies?

=Y )
4. Write short answers (in 3-5 lines) to any EIGHT questions from th

was Dr. Merivale? .
ili. gctlv(s)/ a football match was made possible at the Brookfield?
iii. What did boys comment after tea with Chxps? -
. How did Chips depreciate himself before hlg r;larrlgge. e
hips® performance as a teacher be ore his mar ! . - :
\‘//i. %EZ:;V;?S gh;gs rgalize that the blank letters written to him were a piece of April foolery

What changes did the death of his wife bring in Chips?

e Novel “Good-Bye, Mr. Chips”. 16

iv.

vii.

viii. What did Chips think of Englanc!‘? .
ix. Why did Mr. Chips decide to retire? - \

x. What were Chips’ views about bayonet-practice: \

xi. How did Chips respond to Linford lcll'ue:r?y?

ii i rtwright feel pity for Chips?
xii. Why did Ca g el \ )
ing topics:
i — 400 words) on any ONE of the follom.ng
> “’(‘_’;te;;r?;f;}r’n@()() ‘ (ii) Technical Education \
1

(iii) Importance of Muslim Unity (iv) Pleasures ,Of College Llf: o \\\\ »
6. Useany FIVE of the following idioms/phrasal verbs in s_gptences 0 c{'(f)ust iiv) el s gy
. (i) beat about the bush (i1) a child’s play (11.1‘) hard and fa i Weark{t
(v) move heaven and earth (vi) nip in the bud (vii) putout \ g
i into English: o
7. Translate the following passage in ] . y & eru
+ o~ " . z f /.'6 /4 £ / 4
& Uit (f’ﬂg 23 s i B Juw J‘V,wym s uor S ¢ ( y

Sy e Wy FL s S L S ags 2y £ ’(FJ.U ;: ”A J: uiui
d’&}f‘_z LK Foste 0Tl “ 8 Ui {d,‘f 1% 3 € sl v e sl ?w/(u‘?”ﬁ:v" 2 v” “w:
S wus§oTer L ob e e =B
ALTERNATE QUESTION FOR FOREIGN/ENGL.ISI:I’ MEDIUM CANDID;;'I(;??ﬁt A J—
Write a paragraph (150-200 words) on “ Global Warming



